HEENHXR

FOCUS ON YOUR NEED




About

DUNIgI Yz R 20144108 - #2016
FERBERFBRMALELIBEL

BE - SERTREFREMSMELE - gl
BAEERENRARERENES _ N
CLUEBMBRE RO - BS - 3
HMEERABENNE BERESM
BB

BASLR  —EERMUAEE R
BELRED  ABRRESHER -
OUNI 277 1 7 & & B 32 7 62 45 115 1 8
FEB  AHAFHS  BERE
. MIRK EAEESHESR B
B EIESERNAE

EmEE
OB - PEEHAHRE - REEW - M(B)DHTRE TEH
FHMERHM - BHKE - BEHRKE - JJR(BT ~ HSKZRF)...... 55



A
LSEEN
Chuck Tool

.wWB
Hﬁﬂﬁﬁ%
<y Tooling System

/\\‘ /"/ "r: '\I.I C
_¢JL F A
A’ Spindle Clamping Systeams

() B
{ d "'?};u B R EC 4
RAAD Lathes Component

Z
| B3
Technical Data




m].ll_c_ll_[ﬂ 0' Focus On Your Need 'ﬂl"l

Multi Keyless Drill Chucks Stainless Steel Drill Chuck
Keyless Drill Chucks for portable drills ES fE)

CBEASTH  WWIE  SETEL - Key Type Taper & Thread Mount
ERITRRT AT - $EAL &SR

I FRRMBEETRS - *FIEB IR AT -

S03F WA T5E - *45PRESEL - FREDIESS -
*ARRBEFRIS - SRR R RERE

*|t can be used on hand tools, power tools and pneu-

*ESEE. SEINSRENRIETERTS R ER) -
*NEIEREII T AONSFE - BEIRBMEABZZERE -
+Slainless material is applied to each component.

matic lools.
*|t can be locked without wrench.
*European design style. + Special design: working smoothly.
*Easy to use, durable and convenient.

+Chemical surface treatment is made for each component.

s .
It could be customize. «Anti-corrosion(anti-rustieven if used in the environment of high acidity, high alkalinity or high

R | ) Thread Moun hum|d|[yv
ADDODO7420 10001 10M 0.5-10 3/8-28UNF
ADO0DO7421 10004 1B 0513 3/8-23UNF +Radius design on sleeve: it would not rip the glove; therefore, minimize the risk of operator safety.
ADDODO7AZ2 10007 105M 0.5-10 1/2-20UNF 3 .
AQO0D07423 10010 135M 0513 1/2-200NF Smooth appearance: being convenient for users.

1/64-5/32 - -
| AO00007358 | 10104 | 6MTP | 0.3:6.5| 1/64-1/4 uT1 40.5 49 285 | 135 T1-03 T1-20
ADOODO7359 | 10107 | 6MTH | 0.3-6.5 | 1/64-1/4 | 3/8-24UNF 405 49 285 130 | T1-03 T1-20
ADDO0O7360 | 10110 | 10MTP | 0.3-10 | 1/64-3/8 s 51 63 39 250 | T2.03 T2-20
ADD0007361 | 10113 | 10MTP | 0.3-10 | 1/64-3/8 013 57 69 37 250 - -
ADOODO7362 | 10116 | 10MTP [ D3-10 | 1/64-3/8 D15 57 63 37 250 - ¥
AQ00007363 | 10119 | 10MTH | 03-10 | 1/64-3/8 | 3/8-24UNF 51 63 39 250 | T2.03 T2-20
| AD0DDO7364 | 10122 | 13MITP | 0.3-13 | 1/64-1/2 116 53 77 45 420 | T2-103 | T2-120
ADDODO736ES | 10125 | 13MTH | 0,3-13 | 1/84-1/2 | 1/2-20UNF 53 77 45 420 | T2-103 | T2-120
ADDOOOZ366 | 10128 | 16MmTP | 0.3-16 | 1/64.5/8 Ite 78 a3 55 715 T13-03 13-20
AD000D7367 | 10131 | 16MTH | 0.3-16 | 1/64-5/8 | 1/2-20UNF 78 | 93 | 55 | 728 13-03 13-20

AQOODO7368 | 10201 | TO-03 @3.2 16 AMTP

AD00007369 | 10204 | T1:03 | @40 40 BMTP, GMTH
ADDO007370 | 10207 | T1-20 @3z 40 AMTP
ADOODO7371 | 10210 | T2-03 5.5 as 10MTP, 10MTH,6HTP.
AD00007372 | 10213 | 1220 @5.5 a5 10MTP, 10MTH,6HTP
| ADDODO7373 | 10216 | 72103 | @65 13IMTP, 13MTH,10HTP
AD00007374 | 10219 | 724120 | @65 13MTP, 13MTH,10HTP ’ {
AD00007375 | 10222 | T13-03 @8 16MTP, 13MTH, 16HTR,16MTH Vo, L4
AD00007376 | 10225 | 73-20 [ 16MTP, 13MTH,16HTR16MTH

A-01 A-02



m].ll_ﬁm 0| Focus On Your Need 'ﬂl“l

Keyless Taper Mount(3#3L) + TABRBIERE  BARCNCRES YRR Tool Shank Type (% 714 =X)
Special Heavy duty model  AEEmE S S AREREENRESE Heavy duty & Special Heavy duty model
KB %5 BESREESZT - BRRRKERRS
Titanium jaws + RMFRASEZER - TERMEWEWRR Titanium jaws
EFRE - EER

+ Extremely high accuracy and precision design,
suitable for CNC machines and machine center. Al : |

+ BEUEREFRINEREZSEER | SIRERR
FEUIHIEE » EEERTREINERS -

parts are ground, heal reated, surface treated and + Multi-choices of mounting specification offers quick
under specific QC condition.The clamping three changeover on machine center.
jaws adopt high tech Titanium, L
+ The benefit of adopting Titanium is to increase the c 0 (_';‘ Type M@ 3Tpe
intensity and wear-resistance. = 2 | mm
3
“i . 6 [ a | ® | oos
= 6 | 50
Capacit 75 Length{mm) & & ";_"'I"I' 4 3o
mm inch ope Closed ,;::,,E - LY i 5 L . A 85 : - 0.05
2 -3 () o
A000007257 | 10401 | 35 | 03-2 | 1/64-1/3 JT0 44 485 | 24 | 110 - A " 105 : 3 | 005
ADODD07258 | 10404 | 35 | 03-3 | 1/64-1/8 L a4 485 | 24 | 110 o T
ADD0007259 | 10407 | 65 | 0.3-6.5| 1/64-1/4 JTL 62 68 33 | 300 =
A000007260 | 10410 | 65 |0:3-6.5 | 1/64-1/4 810 62 68 33 | 300 1Bs | 10| % | oos
AD00007261 | 10413 85 | 038 | 1/64-5/16 J51 68 76 3g | 425 13| 75
A000007262 | 10416 85 | 0.3-8 [1/64-5/16 25 68 76 38 | 425 6 | &
AD00D07263 | 10419 | 85 | 038 | 1/64-5/16 810 68 76 38 | 425 165 | 10 0.05
A00D007264 | 10422 85 | 0.3-8 | 1/64-5/16 B12 68 76 38 | 425 16 | 80
A000007265 | 10425 | 105 | 0.3-10 | 1/64-3/8 1125 80 92 a3 | 625 | a.l Keyless Drill Chuck Run Out Table
AD00007266 | 10428 | 105 | 0.3-10 | 1/64-3/8 133 80 92 43 | 625 Keyless BMRIAELEBRHTER
A000007267 | 10431 | 105 | 0.3-10 | 1/64-3/8 B10 80 92 a3 | 625 . o
A000007268 | 10434 | 105 | 0:3-10 | 1/64-3/8 B12 80 92 a3 | 625 h
ADO0D07269 | 10437 | 105 | 0.3-10 | 1/64-3/3 T2 80 92 43 | 625
A000007270 | 10440 | 105 | 0.3-10 | 1/64-3/8 816 80 92 a3 | 625 Q00007347 | 10901 | 65 %35” ysals | M2 78 | sa |32 33 :‘;‘L 265 | 75| 300
A000007271 | 10443 | 135 | 0.3-13 | 1/64-1/2 IT2 90 102 | 50 | 1000 = _ M6
A000007272 | 10446 | 135 | 0.3-13 | 1/64-1/2 JT33 50 102 | 50 | 1000 AR20007548 {20904 || SR 10:2:8-) T/6%5/A6: N2 S 13851160, 53 5071973 1 |0 101400 Y A 1008
A000007273 | 10449 | 135 | 0313 | 1/64-1/2 176 90 102 50 | 1000 A000007349 | 10907 | 108 01-:- veass | as: | 70 a1l a8 m 3 |15 | esn | aves
A000007274 | 10452 | 135 | 03-13 | 1/64-1/2 812 90 102 50 | 1000 — _ o T
ADD0007275 | 10455 | 135 | 0.3-13 | 1/64-1/2 B16 90 102 s0 | 1000 4000007350 | 10910 | 135 | "0 | i/e4a/2 | MFR. (1075 (80,5 | 48| 50 |0 | 38, | 15| 960 | 11010
AO00007276 10458 16s 3-16 1’.18':51'3 176 57 119 S7 1320 AGDODO7351 | 10913 | 165 3-16 1/8-5/8 MT3 112 85 | 54 | 57 iy 43 | 16 | 1250 11013
A000007277 | 10461 | 16s | 3-16 | 1/8-5/8 JT3 a7 110 57 | 1320 P15
AD00007278 | 10464 | 16s | 3-16 | 1/85/8 B16 97 110 57 | 1320
ADDD007279 | 10867 | 16s | 3-16 | 1/8:5/8 818 97 110 | 57 | 1320 Hook wrench(@tF %51)
A0D0D07280 | 10470 | 16s | 316 | 1/8:5/8 1133 97 110 | s7 |1320 \ \ Hook wrench model
AD0DO0T352
" A0DD007353: 82
E= y AQOD007354 105
fREmERE AD00D07355 120
ADDDOOT 356 110

A-03 A-04



Focus On Your Need .ﬂl"l

Stainless Steel Drill Chuck &8 %5
Keyless Taper & Thread Mount
A, & B

Capacity 487 Taper&Thread  lepgth(mm)SE  Outer Weight
Mount No, Bia X
inch DIN or Jacobs open Closed (mm) {g]
T Sma = mi(m) (M) g WE
AQDODD7377 | 11101 35 0.3-3 1/64-1/8 JT0 44 50 30 110
AD00007378 | 11104 35 033 1/64-1/8 Jm 44 485 | 24 110
A0DD0D7379 | 11107 65 | 0.3-6.5 | 1/64-1/4 IT1 62 68 33 300
A000D07380 | 11110 | 85 | 0.3-8 | 1/64-5/16 T 68 76 38 | 425
ADODDD7381 11113 | 105 | 0.3-10 | 1/64-3/8 IT25 80 92 43 625
'AOD0007382 | 11116 | 135 | 0.3-13 | 1/64-1/2 ITe 90 102 50 1000
ADODDD7383 | 11119 | 165 | 3.0-16 1/8-5/8 IT6 97 110 57 1320

Hex Key Drill Chucki&& {2288

Titanium jaws

EiEE 7Y

+ BEREEERER -

* FESRERSIEATA. SN, 8570 -

* mEENTE1200-0m *

* SEELMEET » 1BI0MIESI0EE -

+ Arbor structure makes its performance perfect for
drilling press and machine center.

* Fine components ensure the tolerance and accura-
cy well.

* The benefit of titanium jaws is lo increase the in-
tensity and wear-resistance.

Capacity 1571

Taper Mount
No, DIN or Jacabs

length(mm)EE

inch e open Closed
; a1y IE3L BRI = T(h4) ()
AQDODD7384 11301 BGHK 0.3-8 1/64-5/16 JT1 76 80.5
AD00007385 | 11304 | 13GHK | 0.3-13 | 1/64-1/2 16 94 105
A0D0007386 11307 13GHK 0.3-13 1/64-1/2 T4 112 122.5
AD000D7387 11310 | 16GHK | 1.5-16 1/16-5/8 JT6 104 115
A000007388 11313 16GHK 1.5-16 1/16-5/8 T4 121.5 1325
A-05

Arbor Type(iEt#—H#83() Titanium jaws #E3K
Special Heavy duty model 45E 2 %51
+ WIBREEMEMZIRET  BEEEERMRRE
EUHIBEEESRRECRE. BRERH TS
FIER(E T FAEDEERN R S i O RAGE -
+ RMIFABRENRESSEE » TERNERE
i AREREE
+ Designed together with arbor structure makes its
performance perfet for drilling press and machine
center. Precisely machined and ground compo-
l nents ensure the tolerance and accuracy.
+ The clamping three jaws adopt high tech Titanium.
The benefit of adopting Titanium is to increase the
< L intensity and wear-resistance.

>

o]

b e

|

-
MT : BEE HEAE R

= (>
r

Capacity BRI pjale Taper No,  length(mm)&E  weight

Maodel :
15 m o= B {mm) (g‘)
. e N 5 e 3

AO0DDOD7306 | 11501 85 | 0.3-8 | 1/64-5/16 MT2 142 | 81 37 400 11004
ADDO0O7307 | 131504 | 105 | 0.3-10 | 1/64-3/8 M12 151 | 70 43 700 11007
ADODOO7308 | 11507 | 135 | 0.3-13 | 1/64-1/2 MT2 162 | 81 50 1010 11010
ADDDOD7309 | 11510 | 135 | 0.3-13 | 1/64-1/2 MT3. 180 | 81 50 1140 11010
AD00007310 | 11513 | 135 | 0.3-13 | 1/64-1/2 MT4 206 | 81 50 1490 11010
ADDO007311 | 11516 | 165 | 3-16 1/8-5/8 MT3 186 | 85 57 1445 11013
ADODOOD7312 | 11519 | 165 | 3-16 1/8-5/8 MT4 210 | 85 57 1770 11013
D : EHiH

length{mm) &

ale J
Muodel Male Ta Mo,

i DIN or A
A i = = y B D{mm)

AODO0DO7313 | 11522 | 3§ 03-3 1/64-1/8 Dil2 88.5 | 38.5 24 140

A0ODO007314 | 11525 | 65 | 0:3-6.5 | 1/64-1/4 D16 104 | 54 33 334 | 11001
AD00007315 | 11528 | 85 | 0.3-8 | 1/64-5/16 020 121 | 61 37 510 | 11004
'ADDODO7316 | 11531 | 135 | 0.3-13 | 1/64-1/2 D20 141 | 81 50 | 1030 | 11010
AD00ODO7317 | 11534 | 135 | 0.3-13 | 1/64-1/2 D25 160 | 81 50 | 1190 | 11010
A000007318 | 11537 | 135 | 0.3-13 | 1/64-1/2 D32 162 | 81 50 | 1405 | 11010
ADD00D7319 | 11540 | 165 | 3-16 1/8-5/8 D20 145 | 8s 57 | 1330 | 11013
AD00007320 | 11543 | 165 | 3-16 1/8-5/8 D25 165 | 85 57 | 1480 | 11013
AQ0D0D7321 | 11546 | 165 | 3-16 1/8-5/8 D32 167 | 85 57 | 1700 | 11013
RB: AR

lepgth(mm) 5 = Weight  Spanner
mim c : S D{mm}) ‘g} NG

. za HEERD RE A
A000007322 | 11549 | 135 | 0.3-13 | 1/64-1/2 RE | 184 [ 81 | 50 1260 | 11010

| Apoooo7323 | 11552 | 165 | 3.16 | 1/8:5/8 | R8 |18 [85 | 58 | 1530 | 11013 |

Capacity 1 Male Taper No

Type
iR

A-06



Chuck Tool

Hex Key Drill Chuck
BRI TR

N |

Model U8R  Type R4S
ADDO0D7389 11401 GHK8S MT3 | 26.5 | 15 | 4x12L | 695 | 38 | 48 | 37 | M8

4
A0D0DO7330 11404 GHK135 | MT3 | 2655 | 15 |4x12L (898 | 38 |48 | 50 |[MB| 6
A000007391 11407 GHK16S | MT3 | 265 | 15 |4xi2L | 95 | 38 |48 | 50 | M8 | B

/]
#
%
i
g
ok
=
(o]
w
B
o
3

TR

Tooling System

A-07




Focus On Your Need 'ﬂ'"l

BT CHU CNC Drill Chuck HSK CHU CNC Drill Chuck

BTEA TN BIETE HSKE &= 8258
« ERRBHEFRNEMREBTERTEZLIE ¢ HLEERES S ERST -
BHEIERILMT -

+ AT ERREE -

¢ [LEBRIES HMEREE -

* R IRTIAYAEER -

* 3 fimes better clamping capacity, comparing to
keyed drill chucks.

* The drill bit won' t be loosen or falling off.

¢ [EEERES=ERT -

+ HMBAAERREE -

¢ [EEERESHMSEE -

* OJERINAIREE -

¢ The product can be adapted for the general lathe
or the drilling processing whose machines center * Twice precision than the keyer drill chucks.

can supply with BT spindle. * The drill chuck is interchangeable.
+ 3 limes better clamping capacity, comparing to

keyed drill chucks.

# The drill bit won’ t be loosen or falling off.

+ Twice precision than the keyer drill chucks.

/] /]
# 17
%’ TYPE #48 ) Spanner NO gﬁ
éﬁ ¢ The drill chuck is interchangeable. é’(ﬁ
S A000007206 | 20401 | HSKSOAOPUI3-110 | 110 | 50 | S0 | 1010 o
8 Model A000007207 | 20404 | HSK63AxOPU13-145 | 145 50 63 11010 g’
? ) ﬁﬁ’ TYPE #18 Spanner NO. A000007208 | 20407 | HSK100AxOPU13-120 | 120 | 50 100 11010 o
(31 A000007180 20101 BT30xOPU8-75 75 | 37 46 11007 5‘
S A000007181 | 20104 BT30xOPU13-90 | 90 |50 11010 o
o A000007182 20107 BT40xOPU8-85 85 |37 11007
3 A0D0007183 | 20110 BT40xOPU13-95. | 95

A000007184 20113 BT40xOPU13-130 | 130 | 50| 63 11010

AD00007185 | 20116 BT40xOPU13-150 | 150

A000007186 20119 BT40xOPU16-120 | 120 | 57 11013

A000007187 | 20122 | BTS0xOPU13-110 | 110 | 11010

AD00007188 20125 BT50xOPU13-150 | 150

A000007189 | 20128 | BTS0xOPU16-110 | 110 100

AD00007150 20131 BT50xOPU16-130 | 130 | 57 11013

A000007191 20134 BT50xOPU16-145 | 145

B-01 B-02




I_[I_I]_lj_l]_g_s_USlem Focus On Your Need ““__!

BT Hex Key Drill Chuck
BT U3 ER

VDI Hex Key Drill Chuck
VDI % U 3EER

8 2
VIO F apaci = I
Model * Tvpe me NS0 ! in
iR mm inch !
A000007209 | 20501 | BT40xGPU13-98 | 03-13 | 3/64-1/2 | 98 63 ”
7] AO00007210 | 20504 | BTA0xGPU16:103 | 1516 | 1/165/8 | 108 | 63 : 7]
A0D0007211 | 20507 | BTS0xGPU13-109 | 0313 | 3/64-1/2 | 109 | 100 —_— R
g A000007212 | 20510 | BT50xGPU16-114 | 1546 [ 1/165/8 | 114 | 100 0. TYPE #18 il y =
E AD00007219 | 20801 | VDI30xGPU16-93 | 0.3-13 | 3/64-1/2 | 93 | 68 | 28 | 30 %
i 'AO00007220 | 20804 | VDI30xGPU16-98 | 15-16 | 1/16:5/8 | 98 | 68 | 28 | 30 i
; AD00007221 | 20807 | VDI4O0xGPU13-93 | 0.3-13 | 3/64-1/2 | 93 | 83 | 32 | 40
o A000007222 | 20810 | VDI40XGPU16-98 | 1.5-16 | 1/16:5/8 | 98 | 83 | 32 | 40 a
b c
5 HSK Hex Key Drill Chuck AN
o HSK E#a =4 3598 >
< o
1L —
—
@
=

@50

P —

Fg® Capacity

TYPE /18
2 8 mm Inch
A000007217 | 20701 HSK63AxGPU13-105 0.3-13 3/64-1/2 105
A000007218 | 20704 | HSK63AxGPU16-110 1.5-16 1/16-5/8 110

B-03 B-04




H & & & Spindle Clamping Systeams

= 8 B 1F

sSpindle Clamping Systems




+
B
fic
152
n
S,
3
o3
™
(8]
)
3
B,
=
(o}
&
F
®
3

sSpindle Clamping System

Focus On Your Need “_“"l

BT Pull stud type clamping units + B&&EE# CERER -
It e OO EY HE R RYEK -
* il BRI 200/ (E MR BERET -
e MBRITDTIRE BERBEREE -
+ Suitable for use on spindles.
+ Strictly selected for steel, strength, durability, size
requirements.
¢ Durable cycle limes are designed for 2 million
- usage times.
+ Claw type and tension can be designed and man-
ufactured by customers.

k) vl \"3_ A
y o4 Lim o
nosos | FS:Max.Clamping Force ®AHI7) 7]
hs P ]
isesss 7 MA:Max Tightening Torque B AESERE

G0O000008Y | J0001 | BT30-457 45

G000000088 | J0002 |BT30-607 60" | 19 | 17.8 | 19.5 | 10 | 24 | M10x1.5P 50 a7
G000002743 | JO014 |BT30-907 90°
G000000089 | J0003 | BT40-457 457
G000000090 | JO004 | BT40-601 60° | 28 | 26.4 | 285 | 16 | 35 | M16x1.5P 82 70
G000000091 | J0005 | BT40-907 907
G0000000S2 | JODO6 | BTS0-457 457
G000000093 | J0007 |BT50-601 60° | 43 | 40.4 | 435 | 22 54 | M22x1.5P 98 90
G000000094 | 10015 | BT50-901 90°
G000002744 | J0035 |BT60-457] 45°
G000000095 | JOO36 |BT60-607 60" | 62 | 586 | 625 | 30 | 77 | M30x15P | 130 125
G000002745 | J0037 |BT60-9071 90°

G000000087 | J0001 | BT30-45"
GO00000088 | J0002 | BT30-60°7) 20° | 37 | 7.5 | 3.5 | 3.0 | 3.0 [20.5] 4.0 10 30 5
GOD0002743 | J0014 | BT30-90"
GO0000008S | JODO03 | BT40-45"
G000000090 | 10004 | BT40-607 26° | 52 |10.0| 4.5 | 6.0 | 3.5 |33.0| 55 18 65 6
G000000091 | JODOS | BT40-90°
/GO00000092 | J0006 | BTS50-45
G000D00093 | JOO7 | BT50-60°) 357 | 69 (160 5.0 | 95 | 45 [37.0| 85 35 160 | 10
G000000094 | 10015 | BTS0-90"
G000002744 | J0035 | BT60-45"
G000000035 | J0036 | BTED-60°| 40° | 96 |23.0| 6.5 |16.0| 5.0 |49.5[115 70 450 | 17
G000002745 | J0037 | BTE0-90"

Cc-01

OTT Pull stud type clamping units ¢ B&EX8 CERERE -

9

* BEESHEY HE WA RYER -

* ] FRTEIR B TE 2008 E AR MEREt -

» MBRADTGRERE R WS -

¢ Suitable for use on spindles.

+ Strictly selected for steel, strength, durability,
size requirements.

* Durable cycle times are designed for 2 million
usage times.

¢ Claw type and tension can be designed and

" manufactured by customers.

FS:Max.Clamping Force S&xX# 770

Maodel

7 By
&4 50

Type

AR AB

1 MAMax Tightening Torque S AEIRIE

f g h i Zj

(4}

GO0O00009E | JOOS1 | BT30-45 195 59 27| 5 |225| 23 91 | 19 | 10 | 12
G000000097 | JOOS4 | BT40-45 | 45 |

G000000098 | J00SS | BT40-60°| 60° |27.6| 79.5 40| 7 | 34 | 345 |[117| 27 | 11 | 18
G000000099 | J00S6 | BT40-90° | 907

G000000100 | JOOS7 | BTS0-457| 457 [

6000000101 | 10058 | BTS0-60°| 60° |43.0/116.5/56| 8 | 49 | 495 | 163 | 40 | 12 | 20
G000000102 | JO0SY | BT50-90°| 90

G00000D103 | JOOGL | CAT40 | 45 |27.6/79.5 |40| 7 | 34 | 345 |117 | 27 | 11 | 18
G000000104 | JOO62 | CATSO | 45 |43.0/116.5/56| 8 | 49 | 495 | 163 | 40 [12.2| 20
G000000105 | J0064 | DIN4O | 15 |27.6| 795 |40| 7 | 34 | 345 | 117 | 27 | 11 | 18
GOO00000106 | JOOBS | DINSO | 157 |43.0 /1165 56| 8 | 49 | 495 | 163 | 40 [12.2| 20

B8T30-45

G000000096 | J00S1 23 | 575 | 714 | 106 | 11.4 | 1.0 |3.2|M10*1.25P| 10 30
G000000097 | J0054 | BT40-45°
G000000098 | 10055 | BT40-60°| 24.5| 60.3 |100.35|14.10(20.20 | 0.65|3.7| M14*1.5P | 18 65
1GO0000D0YY | JOOS6 | BT40-90°
G000000100 | JOO57 | BT50-45
G000000101 | JOOS8 | BTS0:60" | 31.5| 68.8 |146.75|14.70(29.25 1.00 4.2| M16*1.5P | 35 | 160
G000000102 | 10059 | BT50-90"
GO00000103 | J0061 | 'CAT40 |24.5/77.55| 84.5 [11.20] 3.40 |1.6012.9) M14*15p | 18 65
G000000104 | JO062 | CATS0 |31.5 87.8 | 127 | 14.9 | 9.45 1.05/3.8| M16*1.5P | 35 | 160
G000000105 | J0064 | DIN4O |24.5| 66,5 | 94.2 |11.20(14.10/0.65/3.8| M14*15P | 18 | 65
G000000106 | J0065 | DINSO |31.5| 79.6 | 135.6 | 149 |18.05/1.05(3.5| M16*1.5P | 35 | 160

Cc-02

*x
B
i
G2
L2
T,
=]
o
o
0
w
3
=3
-
(o}
4
2
11
E




spindle Clamping System

Focus On Your Need 'ﬂ'"l

CAT Pull stud type clamping units
CAT E#3EM

¢ BEEEH CERER -

¢ ERSEY  ME WA RYER -

+ i FRTBIRZUIMTE 2008 E R BaRAT -

* MR NEHKESHEREEETRE -

+ Suitable for use on spindles.

+ Strictly selected for steel, strength, durability,
size requirements.

+ Durable cycle times are designed for 2 million
usage limes.

+ Claw type and tension can be designed and
manufactured by customers.

FS:Max.Clamping Force S A7)
MA:Max Tightening Torque SRR HHEEIREE

DIN69872
Pull stud type clamping units
DIN69872 E#3&/T

_gmin

¢ EEETH CERER -

* FEESEY  BE WA RYER -

* il AR M E 2008 (E AR -

* MBERANTYREPFERGEEEE -

* Suitable for use on spindles.

* Strictly selected for steel, strength, durability, size
requirements.

* Durable cycle times are designed for 2 million
usage times.

* Claw type and tension can be designed and man-
ufactured by customers.

FS:Max.Clamping Force S A7 70
MA:Max Tightening Torque EiASHEIR5E

B i

6000002578 | 10008 M10x1.5P G000002574/J0011 | DIN30 | 15" | 19 [17.8 | 195 | 10 | 24 |MI0xLSP| 50 | 47
6000002579 | J0003 45" | 28 | 264|285 | 16 | 35 |MiexlSP| 82 | 70 G000002575/J0012 | DIN4O | 157 | 28 | 264 | 285 | 16 | 35 |MI16xLSP| 82 | 70
6000002580 | 10010 45" | 43 | 404 | 435 | 22 | 54 |M22x15P| 98 | 90 G000002576 J0013 | DINSO | 15° | 43 | 404 | 43.5 | 22 | 54 |M22xL.5P| 98 | 90
6000002577 |J0072/| DINGO | 15" | 62 | 586 | 625 | 30 | 77 [Mm30xL5P| 130 | 125

Fs max SW

==
L
Bic
f+
w
=
=]
L
m
[0
Q0
3
T,
=
@
n
\.:Vl
@
L
3

Fs max

*
B
Bc
155
V2]
g,
-,
o
]
0
]
3
T,
= ]
@
174
%
@
11
3

=N mm
G000002578 z kN
16000002579 40|26 52|10.0| 45| 6.0 [35| 50 | 45 | 18 6 | 8 6000002574 1 J0011 | DIN30 20|37 | 7.5 135 3 130119.5| 40 | 10 30 5
GO00002580 | J0010 | CATSD |35 |69)16.0) 5.0/ 95 45| 58 7.0 35 160 10 'GOO0002575 | J0012 | DIN4D |26/ 52 [10.0|45| 6 |3.5| 400 | 45 18 65 8
G000002576 | JO013 | DINSO [35| 69 |16.0|5.0|9.5 /45 480 85 35 160 10
'GO000D2577 | J0072 | DINGO |40 96 |23.0(6.5| 16 |5.0| 745 | 11.65 | 70 as0 | 17

C-03 C-04




*
B
Bc
155
V2]
g,
-,
o
]
0
]
3
T,
= ]
@
174
%
@
11
3

Spindie Clamping System

Focus On Your Need 'ﬂ'"l

ISO Pull stud type clamping units
ISO X8z

* BSETHIEREER -

¢ mBESHEHY  BE WA RYER -
* M ARERRETE2008 (E AR MERET -

¢ MBRKNTIKEPFRIETRIE -

FIG.2

G000002581 | 10073 | 1S0-25 1
G000002582 | 10074 | 150-25 | 2

15 ‘ 14 ‘13.4|14.5 17.0

+ Suitable for use on spindles.

* Strictly selected for steel, strength, durability,
size requirements.

+ Durable cycle times are designed for 2 million

usage times.
# Claw type and tension can be designed and
manufactured by customers.

LS 58
FS:Max.Clamping Force B AT 7
MA:Max Tightening Torque & AIHEEIRYE

(s

d e f i h
8 M8*1.0P 38 | 327

13 M8*1.25P 60 58

Madel
(000002581 | J0073
(G000002582 | J0074

Fs max. MA
xlN Nm

12

HSK Griper ¢ BB THRE
HSK 83T ¢ BEHSEY WA -
* 35FRRET  (EEHEISE -

+ {[EFETEHSKR IS S TS » FRIETE -

+ Integrated Stucture:Easy to be installed.

+ High rigidity. High durability.

+ Special Design:High Reliability.

+ Suitable for high-speed machine center. To make
HSK Tool-Holders steady.

a0

obt
oo w02
ob2

FS:Max.Clamping Force Bz X177
MA:Max Tightening Torque Bz AEHFEHE

Model

G000002583 MEx1.0P

5000002584 40 21 | 265 21 | 86 | 78 | 58 44 [M8x1.25P 5.6

GO00002585 | JOOE8 | HSKSO 50 26 330 26 16.6 84 | 61 | 45 |M10x1.5P| 6.4

GO00DD2586 | 10069 | HSK63 63 34 | 416 34 | 146 | 94 | 68 | 52 |M14x1.5P| 7.4

G000002587 | J0O70 | HSK80 80 42 | 50 | 42 | 166 | 98 | 72 | 56 |M16x1.5P| 8.3

G000002588 | 0071 | HSk100 | 100 | 53 | 63 | 53 | 184|124 | 93 | 70 [M16x1.5P| 9.15

Fsmax. MA SW1 SwW2

hmax.

xN Nm mm  mm %
GOOOD02583 | J0066 | HSK32 | 85 0.5(18.5 7.5 5 10 12 3 57,000
G000002584 | J0067 | HSK40 | 85 105270 8 6.8 15 15 4 45,000
GO00D02585 | JOOEB | HSK50 [10.5 0.5)26.5 9 11 20 18 4 37,000
G00000D2586/ JODES | HSK63 [10.5/0.5(31.5| 10 18 30 24 5 29,000
G000002587 | JOO70 | HSK80 | 13 05| 29 11 28 30 27 6 20,000
G000002588 JOO71 | HSK100 | 13 |0.5(34.5| 125 45 50 36 6 15,000

C-06

==
L
Bic
f+
w
=
=]
L
m
[0
Q0
3
T,
=
@
n
\.:Vl
@
L
3




§|]illl"ﬂ mﬂmllillg SHSle Focus On Your Need 'ﬂ'"l

Wire Springs o —HEMBITVIRET - B, HIERE - Coil Springs * —RERNEITUARET + (B, MEIEASES -
wE * BEAED) » TIREEABERE - e » WRESNB)  TIRBEADBEYT -
* WEEE  SEZMERIE - + REEE « SE2VER(E -
+ RYTREFEEME - + RELETREREER YNNI -

+ One-piece design, easy to assemble and maintain.

+ The small outer diameter of the spring provides great spring
load.

« Stable load and high safety operation,

+ Dimensions can be manufactured according to customer's
specifications.

+ One-piece design, easy to assemble and maintain.

. + The small outer diameter of the spring provides great spring
load.

+ Stable load and high safety operation.

+ Dimensions can be manufactured according to customer’s
specifications.

Free Length

{4: NO & ShE {LF
m = N A =1 00 I m
o, G000003243 | J1401 | 12.1540.1 G000003244 | 11501 88.510.2 [ 20.240.1 39.310.1 T,
= 3
o a
() 360 1700 ™
O 340 —5< 1600 e 0
) 320 ~ 1500 —==] )
3 300 // 1400 — 3
o 280 - 1300 - o
P — / p—
= 260 — 1200 - =
Q 240 1100 // =
LA 220 1000 (7]
=< el ) =
0 = 200 - £ 900 n
128 = 180 i’ 200 ’/ =
o = P y e o
W 160 = g 700 7 L
3 140 — 600 L 3

120 — 500 —

100 g 400 =

80 — 300 —=

60 = 200 =4

40 100 =

20— 0

0 1 2 3 4 5 6 7 3 g
1 ) 3 4 3 6 / 8 9 i (mm)
I (mmy)

Cc-07 C-08




+
B
fic
152
n
S,
3
o3
™
(8]
)
3
B,
=
(o}
&
.
o
®
3

spindle Clamping System

Focus On Your Need 'ﬂ'"l

+ JIEFAZETIKORE » BREEE. P
EnalEEE  [ETREiEEES -

+ ARRGESUHE K. ERESH IR
m &

+ ARBNINEREESN  MBMRER
IERERFMFMDMAHEEE -

Spray Nozzle Series Press Fit Type
FoKEE EEcE

+ The Coolant Spray Nozzle could easily adjust its direction and spray precisely. When the
coolants correspond with three pressures-low, medium and high pressures, it can precisely aim
at workpiece.

+ They are suitable for CNC Machine Center, CNC Lathes, CNC Milling Machine, Grinding
Machine and so on.

+ The products can enhance the processing efficiency and accuracy. Also it is helpful for extending
the lifetime of tools and decreasing the cost.

+TEEHEEMKORE » BREEE. . SRelREE - 12
FABRTEIME -

< ERRESUEIE. SR BERESHTER -

+TRBNINEREEN  TENRERTIRERSHE
DIAEE -

* The Coolant Spray Nozzle could easily adjust its direction and spray precisely. When the coolants correspond

Spray Nozzle Series
Thread Mount Type
WK EE SRA R

with three pressures-low, medium and high pressures, it can improve cooling efficiency of tools.
*+ They are suitable for CNC Machine Center, CNC Lathes, CNC Milling Machine, Grinding Machine and so on.
* The products can enhance the processing efficiency and accuracy. Also itis helpful for extending the lifetime

of tools and decreasing the cost.

i — [ _ i
= | wi arF—F—= . P!
= & 8 I -
l e == o
u_ | ‘_, L

— T - --—L—n-
| I
+ i !
| | |
g I g =5 L
=2 o [ = s A 1 1 _ _ﬁ“ o o
A i ) 7 %4 ll 1
| .
X i¥: | 1
Fig 1 Fig2 =~
Andal
NO “-_'[r):_it_l
il
G000000107 | J0101 @15 B4 8 - - - 1
'GO00002777 | 10105 P12 @25 7 - = - 1
G000000108 | J0102 @15 - 8 6 @3 @6 2
GD00000110 | J0104| (12 - 7 T #2.5 o6 2
ol __‘
2% N === 22 IL TS =
53 M E———=
A M ==
L1

NO Modal

Al e

G000000111[J0108| @15 | MSx0.8 | M5x0.8 8 @2.5 @6 11
'GO00002773 10109 @14 | M5x0.8 | M5x0.8 8 @2.5 06 11

G000002649 | 1011100 PT 1/8 20
G000002650 1011200 PT1/8 40 10 6 5 4 17
G000002651 |J011000 PT 1/8 60
G000002652 | 1011300 PT1/4 20
G000002653 | 1011400 PT 1/4 40 10 6 5 4 17
G000002654 | 1011500 PT1/4 60
G000N02655 | 1011600 PT3/8 30
G00D0002656 1011700 PT3/8 50 13 8 10 6 24
G000002657 | 1011800 PT3/8 70
G000002658 | 1011900 PT1/2 40
G000002659 | 1012000 PT1/2 60 18 10 12 8 32
G000002660 | 1012100 PT1/2 80
G000003049 | 1013700 M10*1.25P 182 | 85 6 4.5 4.5 17
G000002661 | 1012200 M10*1.25P 20
G000002662 | 1012300 M10%1.25P 40 8 6 5 4 17
G000002663 | 1012400 M10*1.25P 60
G000002664 | 1012500 M20*1.5P 30
G000002665 | 1012600 M20*1.5P 50 13 8 10 6 24
G000002666 | 1012700 M20*1.5P 70
GD00002667 | 1012800 M24%2.0P 40
G000002668 | 1012900 M24*2.0P 60 18 10 12 8 31
| G000002669 1013000 M24*2.0P 80
G000002670 (1013100 NPT 1/4 20
G000002671 | 1013200 NBT 1/4 ‘40 10 B 5 4 17
G000002672 | 1013300 NPT 1/4 60
6000002673 | 1013400 NPT 3/8 30
G000002674 | 1013500 NPT 3/8 50 13 8 10 6 24
G000002675 | 1013600 NPT 3/8 70
C-10

==
L
Bic
f+
w
=
=]
L
m
[0
Q0
3
T,
=
@
n
‘n:m
@
L
3




*
]
i
*
(%28
S,
-
o
]
0
)
3
B,
-
(o]
(73]
‘-':m
@
2
3

spindle Clamping System

Focus On Your Need ﬂl_“"

+ JEEHEZRNOARE » FREEIE, B BaliEng
BATBRANE,

+ ERERGEEIE SR SRESTTIERK,

+ URENINERBEN  MENRERTAERSFHN
B A B

Spray Nozzle Series
Thread Mount Type
MR7KER SRaE
Stainless Type F#f

« The Coolant Spray Nozzle could easily adjust its direction and spray precisely. When the cool-
ants correspond with three pressures-low, medium and high pressures, it can improve cooling
efficiency of tools.

« They are suitable for CNC Machine Center, CNC Lathes, CNC Milling Machine, Grinding Ma-
chine and so on.

+ The products can enhance the processing efficiency and accuracy. Also it is helpful for extend-
ing the lifetime of tools and decreasing the cost.

Model
3 ““In

G000002676 | 1011110

G000002677 |1011210 | 40 10 6 5 4 17
G000002678 | 011010 60

/GO00D02679 |J011310 20

G000002680 1011410 40 10 6 5 4 17
G000002681 1011510 60

G000002682 | 1011610 30

'G000002683 | 1011710 50 13 8 10 6 24
G000002684 | 1011810 70

G000002685 | 1011910 40 5

G000002686 | 1012010 60 18 10 12 8 32
GO0O002687 1012110 80

GO00002688 | 1012210 M10*1.25P 20

6000002689 |J012310 M10*1.25P 40 8 6 5 4 17
G000002630 | 1012410 M10*1.25P 60

G000002691 | 1012510 M20*1.5P 30

GO00002692 | 1012610 M20*1.5P 50 13 8 10 B 24
1G000002693 [J012710 M20*1.5P 70

G000002694 | 1012810 M24%2.0P 40

G0O00D002695 | 1012910 M24*2.0P 60 18 10 12 8 31
GO00002696 | 1013010 M24*2.0P 80

G000002697 | 1013110 NPT 1/4 20

G000002698 1013210 NPT 1/4 40 10 & 5 4 17
G000002699 |J013310 NPT 1/4 60

G000002700 | 1013410 NPT 3/8 30

/G000002701 | 1013510 NPT 3/8 50 13 8 10 6 24
G000002702 | 1013610 NPT 3/8 70

Cc-11

Spray Nozzle Series Leak Lock Type
MEoKEE L imE
Alloy Steel Type &&48

Stainless Type A&l

o FETRSRET I TIRNME I B4R EDRIE

o HXREE » JERTDEEASF.

+ Special design for avoiding oil leaking.

aan

+ Not delaying spraying fluid which prolongs the

longevity of the tool holders.

mige Thread mount $REGEE

/G000002703 | J017500 PT 1/8 40

(6000002704 | 1017600 PT1/8 50

6000002705 | 1017700 PT 1/4 a0 | 9 5 6 # 7
6000002706 | 1017800 PT1/4 0

G000002707 | 1017900 PT 3/8 30

G00DDO2708 |J018000 PT3/8 S0 | 13 | & | 10 6 | 24
6000002708 | 1018100 PT3/8 70

G000002710 | J018500 NPT 1/4 20

6000002711 | 1018600 NPT 1/4 0 | % | © 6 4 1
|GOD0002712 018700 NPT 3/8 30, _

6000002713 | 1018800 NPT 3/8 s0 | 13 | & | 10 6 24
G000002714 1018900 NPT 3/8 70

6000002715 | 1019000 M10*1.25P 0 ; - . =
6000002716 | 1019100 M10°1.25P 0

6000002717 | 1019200 M20*1.5P 30

G000002718 | 1019300 M20*1.5P 50 13 8 10 6 24
G000002719 1019400 M20°1.5P 70

Stainless Type F @

Thread mount $Z&EE

000002720 1017510 PT 1/8 40

'G000002721 [J017610 PT1/8 60

6000002722 | 1017710 PT 1/4 4 | W |6 . 4 |f A
G000002723 | 1017810 PT 1/4 60

G000002724 |1017910 PT 3/8 30

'G000002725 | 1018010 PT3/8 50 13 8 10 6 24
G000002726 | 1018110 PT 3/8 70

6000002727 | 1018510 NPT 1/4 40

G000002728 |J018610 NPT 1/4 60 1 $ $ 4 e
G000002729 | 1018710 NPT 3/8 30

G000002730 1018810 NPT 3/8 50 13 8 10 6 24
'G000002731 (1018910 NPT 3/8 70!

G000002732 |J019010 M10*1.25P 40

5000002733 |1019110 M10%1.25P 60 10 $ 5 4 d
G00D002734 1019210 M20*1.5P 30 _

G0O00002735 | 1019310 M20*1.5P 50 13 g 10 6 24
G000D002736 | 1019410 M20%1.5P 70

Cc-12

cis
L]
Bc
*
(V2]
el
=
a
D
o
i
5
=)
3
(o]
L%2]
b
2
5




snillllle [:lﬂlllllillg system Focus On Your Need ﬂl_“"

Shaft Coupling + REEED  BRERED - Shaft Coupling + BILES » BEFE -
IR Rane ¢+ FILEE  EHFE B Bl = et 22 . BERFEAES -
* TRIFHES - o BEE  MERTE -

* The expansion sleeve has a high clamping force.

< Smooth operation.
+ Easy to install and disassemble.
+ Aluminum material, anti-electromagnetic interference.

+ Smooth operation.
+ Easy to install and disassemble.

Dimensions{mm )R #&

Me pe ‘Size
Model Type Size e

By B RY y L ek b E b
= 000002839 101 19 3| 40 |18| 66 | 25| 25 |15 |12|15(30|M5| 6 |2 M4 o
#ify G000002640 | 11104 i ] ol o 3 #iff
000002641 | J1107 | . . | P _ 85 |
T e e 24 25| 55 |27| 78|30 |25,5/17|14 1530 MS| 4 |~ M5 [iTH
% gﬁgg;::; jiﬂ: 28 g 65 [30] 90 | 35 |32.5|19|15] 2 [4.0|Mm5| 8 8.65 M5 ' ImERsiD (N *
v reiada, HW6 = Dw dv L 1%2]
= i e 38 9| g |37/114|45 | 40 |23|18|255/40|M6| 8 2| ms ' =3
3 6000002646 11122 38 5 4|45 | ¢ {240 Mol e 6000003251 | J1137 19 | 6 | 24 |40/18| 66 [25[16/12/15|3 M5 | 11 |145] 46 2
= 6000002647 | 11125 ) 35 6000003252 | 11140 24 | 8| 28 [55/27| 7830 18/14/15/3 | M6 |105| 20 |57.5 =
B [Goomomatis | @ [ 32 5| s a5 s« g e e sromEnEnormen i -
- 13| _ ; TR : Tl Sl e SRS 5
3 Cuerlkats 48 |2 l10s51|140| 56| 51 |27]21] 3 |s.0|ML] 4 |52 M2 e 3
S G000003250 | 11134 2 - 0 29 | 0 ype Size ta
2. : X R =
B #3340 F0 48 BB.60 5 (B3 1035 T+(Nm) o a
A 18 19 20 22 24 25 28 32 35 6000003255 | 11149 19 | 6 | 24 [40|18] 66 |25|16/12/1.5/3|m5] 11 [145] 46 o
3 G000003256 11152 |, ., | 24 | 8 | 28 |55(27| 78 |30 18|14|15|3|M6|10.5] 20 [57.5 3
o 8 65 _ _ G000003257 | J1155 || 28 |10 | 38 |65(30| 90 |35|20(15| 2 |4|ms[115| 25 | 73 o
3 24 | we B 62 | 74 | 76 | 88 | 97 |110|114|116|125| 140 6000003258 | 11158 38 [12| 45 180/38/114!45 24 18(25/4/M8|155| 30 | 835 3
' # a2 55|62 |70 | 80| 88 |92 | 98 [105] 112 i
- " 184 203|220 280 | 310 | 353 | 360 | 389 ; , : 5 .
33 gttt SRR A AR 19 | HW2 [24/2627)28]29(30[3132[32]29] 25 |
TR 24 | Hw2 3234384042 42| 51 | 53| 59 |68 |
- 40 45 4 ' 28 | HW2 58627074 78/85| 93 | 97 | 109 |124 136 |
= M |228]337356|398|442|501| 515|533 572 615 644 | 653 38 | HW2 154| 173 [197| 216 | 234|247 | 259|278
: 38 228 304331350405 460|470 513 547 577 | 617 | 622 19 [HW2.5/25/27|28 29/30(31 32 32 /34 30| 32 |
i ki | 445470566 | 580 620|680 | 730| 790 | 850 | 880 | 905 24 |HW2'5 3436404345 48| 50 | 54 | 57 |63 l
2 360400500 515|600 640|660 | 720 | 800 | 850 | 875 28 |HW2.5 818184 (85/87(89| 91 | 92 | 97 |102] 105 N |
a8 i 685809822841 (926|916 /1042|1181 112513111420 38 |HW2.5 105| 109 (113|118 [122(123126130|
B ] 638|762 | 780|842 929|943 1075 1208|1136 1336 | 1366

C-13 C-14




2=
L
B
%
W
2
3
L
]
@)
0
3
9,
3
o]
.‘L‘é\
=
m
w
2

Spindle Clamping Systems

Rotary Joint
R ANKIE S T

| 6000002742 | J1201 | 66 58 | M10xp1 |

Spray Nozzle Punch
TR F BB KRS

*Auxiliary Spray Nozzle is installed
correctly

Mode! , Used on
il & i FE 2K BE

G000002774| 11301 | @39 | @65 | 10 P16 3 15 10101,J0102,10108
'G0O00002775 | J1302 | @24 | @65 | @8 @13 3 10 10104,)0105
G000002776 | J1303 0 @65 | 910 | @15 3 15 10109

C-15

B R B fF

Lathes GComponent

2]
7
Ao
o
I=
oo
=
)
wv
0O
Qo
=
=
(@]
=]
)
S
~+




2}
&
fic
*
&
=5
a
0
o)
3
8=,
o)
=
D
=!

Lathes Component

Focus On Your Need “" I

Stainless Steel 3-Jaw scroll chucks

AEESH=EHH

+IERTRETE -

*ISTRERET - FUENIER

*FiERFSRER S RERE -

+EREIE. BBREIBEENSRTERTS
TRAN () -

« Made of stainless steel.

+ Special design, smooth rotation.

« All parts are chemically surface treated.

« Use in high acidity, high alkali or high humidity environment not easy to corrode (rust).

ATALE HHE
Front Mounting Rear Mounting 6

T
L

OooOom

s
-

=
TououUou
I
|
I
¥
1
==
I
|
G
s}
A

35C-03 . 3-M6x1P

35C-04 112/ 58 | 80 | 95| 24 |4.5| 3-MBx1.25P | 42| 14|17 |10 2500 | @3-@90 | @32-@R4 33

35C-05|132| 60 |100{115| 32 | 4.5 | 3-M8x1.25P | 50 | 16 | 20 | 10 2500 @3- 9110 | 935- 8100 4.6

35C-06 [167| 66 |130[147( 45 | 5 | 3-M10x15P | 65(19|23 | 10| 2000 | @4-@I60 | 948-@150 [ 7.9

D-01

Thru-hole power chuck

thZ= ) 11 7%EE

B =MAEEILE -

* BIEIDEREL RGBS » WEEE
-

*BEMEERBRITHEE -

SFEREEMERSRMIH2LE -

*HmaxBEREBRETEREF 2R
1R48 « EUREEERETH -

+ It's a WEDGE-HOOK type 3-jaw with the large through-hole.

+ Matching surfaces of all parts hardened.ground and lubricateddirectly.

+ Construction of high rigidity and high clamping accuracy.

+ F value is the hole diameter of blank draw nut, H is the maximumthread specification, and it could

be customize.

mAE 15
~"Serration Pilch

]
73
Bc
*
&
5
3
0
o)
=
=
o)
=
o
=




Lathes Component

Through-hole rotary hydraulic cylinder

B S Bl op 2230 4 e R L

« PR | B S R e R 7SR IR R

+ ZHEFUBRBRBEEZ.

+ Bulit-in safely check valves and pressure relif valves.
Can screw it from the rear end of the cylinder when

+ mounting.

.
42

T —

5 (Drain Poet) 2_32- I e & - g
N
g o
= 3
) it P ik 1) 2
(7] 1742{17.1) Q.
@) TR-536 | 105 70.8 665 | 2690(26.3) |2520(24.6)| 8000 | 0013 | 69 50 o
TR-646 | 128 15 105 93 |3990(39.0) [3530(34.5)| 4.0 7000 0019 | 92 ’ o
o TR-646C | 125 991 88 |3765(36.9)(3344(32.7)| (40.8) | 7000 0019 | 92 &
3 TRB52 | 145 22 137 127 |4922(48.2) [4558({44.6) 6300 0.057 | 125 3.9
5 TR-1881K| 180 25 188.5 173.6_ | 7166(70.2) |6593(64.6} | 4800 0.09 21 43
P | TR-428 | 90 [126132]100| - |80 | |44 [ 9 |-1[34 24| 60 | 91 [1315] 12~MBX20 - - | M33RLS |
) TR-536 |105[138 /143115125 | 48115 0 |40./25163.5199.5| 134 ‘Max70 MA2KLS
"o TR-646 |128|162|165|130147100] | 65 |15 | O 2916751 97 (1875 1 0 ouns sl Msskzo [ |
+ TR-646C 1125|162 |165]140(140 120" | 65 [ 15| 0 | 44 |20]67.5] 97 [137.5 MaX7S5 ‘Mssxa0 |30
TR-852 |145|185[184[170[165(130| |70 |21 [-1 221685] 98 | 138 ME0X2.0
TR-1881k| 180225229205/ 205/ 168| |100]|23 | -2 |55 [30] 86 | 130 | 184.5 | 12~M12X24 | M10X90 [16] MIOK2.0 |35

98 |55| 60 |109

TR-428 | M34X1.5 |27

AR

30 44
TR-536 | M44x1s |27| |38[36|955 30| PT1/4 | 42 | 64 98 | & | 66 |109/| 55 | M5XS | MS5X6
TR-646 | M52X15 |29 50|46 99.5 52 | 76 116 |65 | 765 | 120 | 64 | MEX6 98! , pa—
TR-646C | MS2XL5 |29 9 S0[46]895(85 36| PT3/s 52| 76 a 116 6.5 765 | 120 64 | MEX6 | MSX6 I N
TR-852 | M58X1.5 |30 §5(521 100 56 | 85 96 |128| 7 | 80 |130| 73 | Mex7 =3 l
MEXE
'I'R-Z-1881Ki MB89X2.0 |38| |85|81| 144 | 11 |40| PT1/2/| 85.8 | 115 |126|175 |11 | 105 | 174|103 | MEX10 Mlgtsm

Technical Data

D-03




I_e_ﬂ_llm_c_ﬂ.l_n_ﬂ]ﬂ Focus On Your Need ““"l

Dynamic Balance Standard Formula List JACOBS TAPER DIN238
EEEREATIIE Type D d i1 BType D d I oD
JT0 | 635 [ 5802 [11112] [ B6 | 6.35 | 5.85 | 10
BalanceGrade  GOA Gl G25 G63 G16 G40 G100 G250 G630 GI600  GAOOD JT1 | 9.754 | 8469 |16.669 | | B0 |10.094| 34 | 145 77
pisciion (mmfs) | 04 | 1 | 25 | 63 | 16 40 | 100 | 250 530 1600 4000 JT25 | 13.94 |12.386 | 19.05 B12 |12.065] 11.1 | 185 7
Required | exw(jim*rpm) | 3820 | 9549 | 23875 | 60165 | 152800 | 382000 | 954900 | 2387500 | 6016500 | 15280000 | 38200000 JT2 | 14.199 | 12.386 | 22.225 | | B165 | 15.608 | 145 | 215 2 Lii
JT33 | 15.85 | 14.237 | 254 B16 |15.733| 14.5 | 24 7/
IT6 | 17.17 | 15.852 | 25.4 | | B18S [17.431| 16.2 25 /f/
SETTING OF THE BALANCE SERIES IS ACCORDING TO SO 1940 STANDARD e [P g s ey e ey »/,:/
JT4 | 28.55 | 26346 | 42.069 | | B22 |21.793| 19.8 | 405 —
THE FORMULA AS FOLLOWS: JT5 | 35.89 | 33.422 | 47.625 | | B24 | 23.825| 213 | 50.5 ad
U=MXe G=UNBALANCE SERIES
U=UNBALANCE (g-mm)
u=S%M . 9549 e=ECCENTRIC DISTANCE(mm)
n
M=ROTER WEIGHT(kg) DIN228" ATANG TYPE”
5 Go_nxU n=rpm Type 4D a D1 4dl ¢d2 11 12 b ¢ e R 7l 5
% =0ta0x MTO | 9.045 | 3 | 9.2 | 61| 6 | 56 |59.5] 39 |65]10.5 1 o
filiy 749X M 9549=CONSTANT MT1 |12065]35 122 | 9 | 87 | 62 |655| 52 [85135]5 12 {i

mrz 1778 | s | 18 | 14 [135] 75 |80 [e3 [10] 16
MT3 (23825 | 5 [ 241 [191[185] 94 [ 99 [ 79 [13] 20
MT4 | 31.267 (6.5 | 31.6 | 25.2 | 245 (1175 124 [11.9| 16 | 24
MT5 | 44.399 | 65 | 44.7 | 36:5 | 35.7 | 1495 | 156 [ 155| 19 | 29

Quality levals according to 10S 1940 and MT6 |63.348 | 8 | 63.8 | 524 | 51 | 210 | 218 | 19 |27 | 40 4
IR L permitted residual imbalance or speed e
Center of Gravity \ 2\'_ [
™ . — o}
f i8] 2 } <
o e e e 1 g [D Y

Gyratory Centar
-

w}l

HlB|e|~e|n|s
N
in

1

&8

@01

« poripm} on g mm/kg
BEE
by
’ dl

—
m
0
=
=
0
e
O
1]
-+
w

ejeq jealuyds |

per(pm)

w
g
=
=
o
25 DIN228" B DRAW BAR TYPE" ”
—
ES Type ¢D a 4¢D1 4d3 ¢d4 L1 L2 T 2 M K T gy, | MENO.
| oL M0 | 9045 [ 3 | 92 [64 | 6 | 50 |53 | 4 [02] - [-] 1 g Y ] D?\i
83 M7l [ 120653512294 | o [s3s | s7 [ 5 o2 me|16]12 %I U gl }) o]
oA mi2 [ 1778 [ 5| 18 146 14 | 64 | 69 | 5 |02{mi0]| 24 [16| ® . == i)
=E mMT3 [ 23825| 5 | 241 [198| 19 | &1 |86 | 7 [oe|m2] 28] 2 t’-)v" T
9!';. MT4 | 31267 |65 316 | 259 | 25 |1025| 109 | 9 1 [M16| 32 |25
X MTS | 44.399 |65 | 44.7 | 37.6 | 35.7 [1295 | 136 | 10 |25 | M20 | 40| 3 L1
EE MT6 [63.348 | 8 | 638|539 51 | 182 [190 16 | 4 [m24 50 4 L2
§c
@ao

Maximal operatianal speed n (np m) towimin

Z-01 Z-02




—
m
0
=
=
0
e
O
1]
-+
w

Technical Data

Focus On Your Need m“"

JISB 6339

* IBES RN IR » SRR -

« IRELREEFEERGCE.3  IKEPBARMAIEHRG2.52E.
« RIEEE @ JIS MAS-403

+ EEQEZIVEATS

* BEME @ JIS-SCM415

+ EEEATHRC 56 BBOREAXFL0.8mm

+ EEENGR0.8um

« BREIERSE © RaVBE0.5um

# If it is suitable for center coolant standard, it can be ordered.

* The shank has pre-balance at G6.3, and can provide precision balance at G2.5, made by
request.

* Shank body standard:JIS MAS 403.

* Taper tolerance  AT3.

+ Basic Material : JIS-SCM415,

¢ Hardness HRC56 Carbon depth  0.8mm,

# Roundness 0.8um.

+ Surface roughness:Ra  0.5um. 8

60
dl
|

L
I
D2
D3
D4

]
® (&)

—
]

Mount

B130 46 | 31.75 | 56.14 38 125 8 70.4 48.4 34 24 | 20 M12x1.75P

2
BT40 63 | 44.45 | 75679 | 53 17 10 92.4 65.4 43 30 |25 2 M16x2.0P
BT50 | 100 | 69.85 | 118.02' | 85 25 15 | 1398 | 1018 62 45 |35] 3 M24x3.0P

Z-03

DIN 2080

+ FETRERE - DIN-2080

* HERZNEEATS

o« EXHHE : JIS-SCM415

* [EEARRHRC 56 EEREEASR0.8mm
* AEENR08m

+ [REEEEE : Ra/MIR05um

+ Shank body standard:DIN-2080.

¢ Taper lolerance AT3.

+ Basic Materance: JIS-SCM415.

+ Hardness HRC56 Carbon depth  0.8mm.
# Roundness 0.8um.

+ Surface roughness:Ra  0.5um.

dl

PTITES o

[ F

TR

d3

BT30 50 | 3175|161 | 17.11 |16 | 684 | 484 | 3 24 8 | 1/2"-12W,M12x1.75P,1/2"-13UNC

BT40 63 | 4445|161 | 2500 | 16| 934 | 654 | 5 32 10

- é ; 5/8"-11W,M16x2.0P
BT50 |97.5 | 69.85 | 257 | 39.29 | 3.2 | 1268 | 1018 | 8 | 47 12

1"-8W,M24x3.0P

Z-04

2}
oy |
2
=
=
8
Q
]
&




Technical Data

Focus On Your Need 0““'

DIN 69871

+ MLESHEPIMEIIREE(DIN-69871-AD or B) B,

+ IHEHMAETSIERGE.3 » REFPMRIMARHG2 52 ME.
« FAEEEE @ DIN-69871

+ EEQEIRATI

+ 2FHMEH : JIS-SCM415

DIN 69893 A+C

+ MEHEE ) FEIERGE.3 « BEPFHRITIRHG2 52 1R1E,
» IM{EEHE © DIN-69893

+ HEEDQZERATS

« R : JIS-SCM415

*HEEANSHRC 56 EBEEARR0.8mm

+ EEARHRC 56 EBGEEXI20.8mm « EEE/NA08um
+» EMENR08um + FEEEESRE : Ra/VIR05m

« {REEIEE © Ra/VIR05um .
" @ " ¢ The shank is pre-balance at G6.3, and can provide precision balance at G2.5, made by request.

# If it is suitable for center coolant standard(DIN-69871-AD or B), it can be ordered. +Shank body standard: DIN-69893.

* The shank has pre-blance at G6.3, and can provide precision balance at G2.5, made by request. * Taper lolerance  AT3.

* Shank body standard: DIN-69871. + Basic Material: JIS-SCM415.

+ Taper tolerance  AT3. ¢ Hardness HRCS56 Carbon depth  0.8mm. ﬁ
+ Basic Material: JIS-SCM415. +Roundness 0.8um.

# Hardness HRC56 Carbon depth  0.8mm.
+ Roundness 0.8um,

+Surface roughness:Ra  0.5um.

+ Surface roughness:Ra  0.5um. ’;‘ﬁﬂ.
3 oG N
o o
= =
2. 3,
8 i 60" 14 1 339 g
= m - ] H— -+ 3 ) P i + 338 5
9 ]
Y - /——-\ o
’7%7/; /- l C
4 H= |- gy 12077 | A
g (T = \ 2l s
0 j 4
: 1 i2
32 16
I 35

Mount D3 4 ; 7.05

type 9 =005 0 MR 2 . r 0 e HSK40 | 40 |30.007 | 21 |255| 23 | 34 45 4|20 | 4 3| 20 16 8.05 9 11
0.1 0.5 03 04 3 HSKSD | 50 |38.009|26 | 32 |29 | 42| 593 | 7 | 25 | 5 42 26 18 10.54 12 14

BT30 S0 |31.75| 59.30 |44.30| 45 | 13 | 16.1 47.8 335 | 24 19 164 | 15 M12x1.75P Hsk63 | 63 | 48.010] 34 | 40 | 37| 53 723 =] 32.1'6:3/| "42 26 18 12:54 16 18

BT40 | B3.55 |44.45 | 72,30 |56.25| 50 | 17/ |16.1| 684 425 | 32| 25 | 2281|185 M16x2.0P HSK100 | 100 | 75,013 | 53 | 63 |58 | 85 10975 | 7 | 50 | 10 | 45 29 20 20.02 20 22

BT50 |97.50 | 69.85 | 107.25 | 91.25| 80 | 25 | 25.7 | 101.75 | 61.5 | 47 | 37.7 | 355 | 30 M24x3.0P

Z-05 Z-06




—
m
0
=
=
0
e
O
1]
-+
w

Technical Data

Focus On Your Need O“HI

ASME B5.50

* UIE S BRIl LE KB E (DIN-69871-AD or B) + TIEER.,

+ LA E FHIERGE.3  KEPTRIMIEHG2 52101,
+ RASHEE : ANSI-B5.50

+{EFRENRRATS

s EAHE : JIS-SCM415

+ BEATRHRC 56 SHEREAL0.8mm

+EHEENDROSum

+ 2EEEE - Ra/VR05um

+|f it is suitable for center coolant standard(DIN-69871-AD or B), it can be ordered.

* The shank has pre-balance at G6.3, and can provide precision balance at G2.5, made by request.
+ Shank body standard: ANSI-B5.50

+ Taper lolerance  ATS.

* Basic Material: JIS-SCM415.

+Hardness HRCS6 Carbon depth  0.8mm.

*Roundness 0.8um.

¢ Surface roughness:Ra  0.5um.

= 47 0.375" DRILLX0.015" DEEP

i i

L 3

/ !

% i

: Z 7 /{2‘ \/7'-\
8| 38| —hin = 29 o : P%
i
Q@/
0a2s7l| lo62s- 4| s

I 1375

Mount D dl D2

type 0002 +0.002 0005 min <001

CAT30 |1.812 | 1,250 |2.176 | 1,531 | 1.250 | 0,516 | 0.645 | 0.2813 | 1.875 | 1.00 | 0.188 B.?3 0.640 | 0.500-13

CATA0 | 2.500 | 1.750 | 2.863 | 2.219 | 1,750 | 0.641 | 0.645 | 0.2813 | 2.687 | 1.12 | 0.188 | 0.985 | 0.890 | 0.625-11

CATA5 | 3.250 | 2.250 | 3.613 | 2.969 | 2.250 | 0.766 | 0.770 | 0.2813 | 3.250 | 1.50 | 0.188 | 1.235 | 1,140 | 0,750-10

‘CATSO | 3.875|2,750| 4,238 | 3.594 | 2,750 | 1.031 | 1.020 |0.2813 | 4.000 | 1.75 | 0.250 | 1.485 | 1.390 | 1.000-8

Z-07

Tapered Part

* Clamiping or releasing the cutting tool only at standstill of machine spindle or
oulside the machine,
* Please spray oil on the surface lo prevent corrosion before storing Hex Key Drill
Chuck.
HOW TO MOUNT
+ Hex Key Drill Chuck is clamped by Hex Key on side of the dnill chuck actuating 8
bevel gear. Turn hex key counter clockwise to open the drill chuch, clockwise to
close it. Open the jaw of Hex Key Drill Chuck wide encugh to insert the cutting
tool.(FIG.1)
+ Tum Hex Key clockwise to clamp the culting loal.(FIG.2)
+ Hex Key Drill Chuck is ready for work.(FIG.3)
+ Please tum Hex Key counter clockwise to release the cutting tool and move the
cutting toal.

Hex Key Drill Chuck Manual
5 i T SRR R F A A
CAUTION

Release

HEBE

» RETIOMIE TR SIS WM IR,
+ TSR  TERER LRI S,

REBERSR

+ BEAGRELARRSRDAASORBERIKH TN | DBAERITIMN
=M ; ENABEF BT M. R S MBS LA TR (8 1)

+ EWARRT SRR DR, (H2)
+ ERESSUIEEEI MOS0 T (H3)

+ BEWARESEMEENIRE,

Spindle
Ed

Soft Steel Bar

B

!“H

ejeq jealuyds |




—
m
0
=
=
0
e
O
1]
-+
w

Tapered Part C) Soft Steel Bar l [

Technical Data

Focus On Your Need ““"I

B ENRICTRRIERA

ERER

« KIRILS M3 ERERERE" 258 - BT ERIMSTR ML IeEE ; [A « ILRES
SR BETIEENEASRENSYUREN.

« FIIBIMFRL  BENFEEMESRRREMRAEBN TR » RIS EEEERERE
BEH, WENEERTRENERERENSHREN .

+« FHDOMMEIIE » INREF—ERF RER A EERES —E R RYNTE  BliticEs
AEMHENEEIEFEARS  URESSNTRREREERN,

« LEFREERSDNTES » ROUIEN - T2 ; SRHIREEEEDRE - "REZ2TRIESHM - Bie
RS « BISIEES R ERERE T BREN.

o [LREETREFE AR TR E L EEOEE NREETHEAESWR E L8  BITE®RS
RIEEHRERS « BITRESMERAEREDZUMRESN .

» 7BMEEAHPIRENTE  SRIBEERR  EWEEEHDIBEEET  —EFEM
EMEEREN,

« FUSEERTSISI0A » ZIRFRE  SAESERNE  ERETEHCIBEIETE SRS
HMEEBREN.

+ HIRRLRSRT » 20 : UESR AN REINER  H2BERIRE  BEER
BT IR R » @ERMEN2BEREN.

+ DFEAEEE SEEEEHRSIHTE2IE  SEMAEEERMRE EEmMElD
BEREN,

"REBEE"THR

o« SEEREHEN Tapered part) ABGHHERREZF - MR IER SN EAUHHE.

o =M EREEREMIRINNTERZ T,

+ THhEEEN Tapered part)NFREER(Arbor) B —E2iEREZF.

o IGEBTE IR AR S A R 2 #EL AR TETE BRI ERIOREEE B
ASBIERUEIETHEIERERA » B @RI T M LEINEE.

+ JBIEEI=NIEAE.

wisn S——r) wan

Collar
E3picki-|

| Tapered Part
Sleeve o B

Z-09

Keyless Drill Chuck Manual

CAUTION

+ Mount the chuck firmly according 10" how to mount” in this manual. Otherwise, the chuck might be loosened,
which may eventually result in serious bodily injuries or accidents.

+ Check and confirm that the tool is clamped firmly by the three jaws before starting operation. Improper clamp-
ing of the tool will cause its abnormal runout, breakage and/or detaching, which may result in serious bodily
injuries or accidents.

+ Tighten the chuck strongly by hands. In case of chucking a tool of smaller diameter with a chuck of larger ca-
pacity, the automatic tightening mechanism may fail to function properly, which may cause slipping of the tool
and eventually ils falling down.

+ The chuck cannot be used in CCW rotation, If the chuck is rotated in CCW direction, the tool will be loosened
and spin off from the chuck which may cause serious bodily injuries or accidents.

+ The chuck cannot be used lo the machine having an emergency stop mechanism. If the machine spindle
stops rotating by such emergency stopping, the tool will be loosened and spin off from the chuck, which may
cause serious bodily injuries or accidents.(Use our CNC Keyless Chuck or Dream Chuck for the machines
having such emergency stop mechanism.)

+ Do not touch the chuck or the toal while being rotated. Otherwise, there will be dangers to be caught by the
rotaling parts of the machine, which can result in serious bodily injuries or accidents.

+ Do nol manipulate the chuck before complete stop of the spindle. Olherwise, there will be dangers to be
caught by lhe rotating parts of lhe machine, which can resull in serious badily injuries or accidents.

Do not use the chuck if some abnormal conditions, like cracks, breakage or transformation are delected

+ thereon. Use of such defeclive chuck may cause serious bodily injuries or accidents.

Do not make any repairing, re-assembling nor remodeling on the chuck. Use of such re-worked chuck may

+ cause serious bodily injuries or accidents.

How to mount

+ The tapered part of the chuck must well be cleaned off oily material, dust and foreign material.

+ The three jaws must be retracted below the level of the chuck nose.

+ The tapered part of the spindle or lhe arbor must also well be cleaned.

+ Insert the lapered pari of the spindle or the arbor into the tapered part of the chuck, laking care not to make
any flaws or damages on any of the lapered parts. And drive the chuck by hammering the edge of the soft
steel bar with a wooden hammer, taking care rol to let the chuck slip off or fall down from the spindle or the

arbor.

+ Do not hammer the jaws nor sleeve. A
éo

When you operale, the length of holding capacity (L1) shall

insert the drill bit to the bottom or at least insert to 2/3 of

the length of three Jaws(L). x

RSRELERERRASEREOMRUO25 | |a [ ﬁ

Z-10

2}
oy |
2
=
=
8
Q
]
&




I.ﬂ.ﬂ.ll.ﬂ.i.ﬂ.ﬂ.l.ﬂ.ﬂlﬂ Focus On Your Need ﬂl_“"

Spray Nozzle Punch
IR K B F IR E R A
REEE
* BRZKERPF IRIRZKEE B RS E B (TR R SUR IR Z 8 (7

+EEBIRFOURREE | B BIRFTREEE

#ReEFHK

* 463 F HIEIRKERIRR il

* ERUKEES R IEER SR T B R R

Release

B 0l 0 s
e I8 K ga R BT IE KRR 1ol
--------------------------------------------------------------------------------------- 1
= IR KA e 3
o TE B W R 22 38 EEAREESS a
3, i B sesseeisseissiissiissiissiissssessissstestee st st s s s s sea s a e 3,
(2] 0
=R =R
o ‘ """""""""""""""""""""""""""""""""""""""""""""""""" o
= =
] iz R T | I o Y]

— ERESEEARINE CHIERERER | L 00 e e

IBKIRBE MEEHE 7 e __,_,_,—,

' DA K BEER A L
& TR By RONAEEEE 00 e

Z-11




HIEIFFRFK

FOCUS ON YOUR NEED

OUNI zzEmsmAT

B|ehAT @ 40453 BrhriTitE S #EAE T 360 8 25 823

25F.-3, No.360, Sec. 2, Taiwan Blvd., North Dist., Taichung City 404, Taiwan
FALTER - 52344 LA SERE R WTERTEE 8 73R

No. 87, Dongxi Rd., Pitou Township, Changhua County 523, Taiwan

EIE%EI

E !
www.ounimart.com

service@ounimart.com

TEL @ +886(04)-23218229
FAX : +886(04)-23218239

BBTHAE - TRDRBFERSZRERT) - WHRHT -

OUNICA0OT
201905



